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Q1. Fill the relevant bubble against each question according to curriculum. Each part carries one mark.

ﬁz Question A B C D A|lB|[C|D
Which of the following
i. | keyword is used to declare dim Var Let const O O 0O
variables in JavaScript?
Which of the following is
.k commonly used tool for Microsoft Microsoft Microsoft | Microsoft 0O 0 O O
" | data analysis and Word Excel PowerPoint | Outlook
visualization?
jii, | Which HTML tagis used |, o <href> | <hyperlink>| <a> |O O O O
to create a hyperlink?
Which of the following a document
statement is true about a outlining a list of .
. business plan? the goals potential a financial a
iv. ) statement | marketing | O O O O
and customers
v brochure
strategies of
a business
Which of the following DVD RAM PROM | Memory
v. | memory type is considered O O O O
; card
as a volatile:
How d'(,), you write "Hello, msgBox alertBox alert("Hello Msg
Vi. WOTld 1mn an 'alert box ("HCHO, ("HCHO, World!™: ) ("HCHO, O O O O
using JavaScnpt? WOI'ld!"); WOI'ld!"); orld: )a WOI‘ld!”);
Which of the following is Sharing )
. I Helping a .
an example of unethical positive Cvberbullvi friond with Respecting
vii. | behavior online? messages yberbullying | triend wit others' O O O
. home task .
on social privacy
media
What does privacy mean Sharing Keeping ‘ Hacking | Ignoring
... | in the context of computer into others .
viii. : personal personal security | O O O
ethics? : . . : accounts
information | information measures
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freely confidential
online and secure
Creating
. something Investing
Copying . .
. . 7 new or money in | Following
. What does innovation existing . . .
iX. ) . : improving the stock others OO O
mean in entrepreneurship? ideas .y .
existing market ideas
products or
services
Video conferencing is an . Full-
X. | example of the following Simplex Half-duplex Duplex Duplex |O O O
transmission mode:
. Figuring | Identifying
Which of the following Finding the Memorizing | out how to prime
. . sum of two e .
xi. | problems is an example of multiplication | organizea | numbers |O O O
numbers .
a complex problem? table fundraising | between
event 1 and 100
Which of the following is | Microwave . .
xii. | an example of Al used in oven Refrigerator | Bicycle Self- O 0 O
. driving car
everyday life?
In a problem solution Spreadin
involving making a A finished p g Bread and .
xiii dwich. wh 1d b sandwich butter on butter Eatinga | 5 5 g
- | sandwich, what would be bread sandwich

considered the input?
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Note: Answer all parts from Section ‘B’ and all questions from Section ‘C’ on the E-sheet.

Write vour answers on the allotted/given spaces.

SECTION - B (Marks 22)

Q.2 Question Marks Question Marks
; Write down the purpose of any two 1+1 | OR | What is the role of computational 2
' input devices. thinking in Computer Science?
ii. Consider the following problem: 1+1 | OR | Write down HTML tags to display 1+1
Y = 5x + 3. Identify the inputs and ‘Software’ as a main heading and
outputs to find the solution of a problem ‘System Software’ as a subheading
and fill the relevant boxes: on the web page.
Input | Process | Output
5x +3
What is the importance of buses in 1+1 | OR | What is the impact of computing on 2
1ii. computer architecture? List down the e-commerce?
names of any two types of buses.
Differentiate between discrete and 1+1 | OR | Compare any two types of storage 1+1
iv. continuous data with example. devices with respect to storage
capacity and speed.
Outline any two (02) strategies that 2 OR | List down any four (04) methods 0.5x4
V. individuals can use to ensure safe and for primary data collection.
responsible data searches.
Why is the operating system an 1+1 | OR | How does design thinking 1+1
Vi. important software? (Give any contribute to create innovative
two points) solutions? (Give any two points)
vii. | What will be the output of the following 2 OR | Why wireless networks are useful? 1+1
HTML code? Provide any two reasons.
<html>
<head>
<title>Output Question </title>
<style>
text {
font-size: 20px;
color: red; }
</style>
</head>
<body>
<p class="text">This is a paragraph.</p>
</body>
</html>
viii. | Why is data analytics important for 2 OR | What will be the output of the 2
determining the number of students who following JavaScript program
prefer various ice cream flavors in our segment?
school cafeteria? leta=10;
leth ="5";
console.log(a + b);
iX. Identify and correct errors in the 2 OR | lllustrate at least four (04) 0.5x4

following JavaScript code:

components of data communication
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let fruits = ["Apple", "Banana", with the help of diagram
"Orange"];

console.log(fruits.length)
console.log(fruit.length);

Compare simple and complex problems | 1+1 | OR | How Al can be beneficial in 1+1
X. with one daily life example of each education? (Give any two reasons)
problem.
i Write down any two (02) characteristics | 1+1 | OR | Write down any two (02) 1+1
' of entrepreneur. advantages of cloud computing.

SECTION - C (Marks 20)

Note: Attempt all questions. Marks of each question are given. (4 x 05=20)
3- Question Marks Question Marks
0.
Differentiate between natural and 2.5+ | OR | What is machine learning and Al? 2+3
0.3 artificial systems with brief 2.5 Explain the difference between
’ explanation of one example of each machine learning and Al.
system.
Q.4 | Draw a flowchart that reads a 1+4 | OR | Write a JavaScript function called 1+4
number and prints whether it is ‘CalculateGrade’ that takes marks
negative, positive or zero. of a student as input and returns

grade based on the following
grading system: A if marks are
greater than or equal to 90, B if
marks are between 70 and 89, C if
marks are between 50 and 69, and F
if marks are below 50.

What is computing innovation? 142 | OR | What is big data? Describe 1+2
0.5 Explain the harmful effects of +2 applications of big data in health +2
) computing innovation on society care and manufacturing.
and environment.
Create a webpage in HTML with the| 5 OR | Your school wants to set up a 1+4
following requirements: network system where every
a. Add a suitable heading to classroom computer can share files
introduce your page and resources easily. Would it be
b. Below the heading, insert a better to connect all the computers
Q.6 paragraph about your favorite in one long line (like a bus), or to
) hobby have each computer connected to a
c. Include a related image central server in the school office
d. Add alink to a fun website (like a star)? Compare and contrast
e. Set the background color of the network topologies in terms of
page security, cost, size, and

architecture.




